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#43

Write an equation of the lowest-degree polynomial function with the graph with the graph and intercepts shown in the figure.

Solution:
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 are on the graph of the polynomial function.
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Let 
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 is a polynomial and 
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are real numbers. This is possible using long division method.
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So 
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So 
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Since we want to find the lowest degree we may assume that 
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Now we check our guess with the point 
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The above equation is correct. So The given equation is
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The problem has been solved at January 6th 12:27 (afternoon) by Dr. Chun, Chong Suh.
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